NOTES:
1. ALL DIMENSIONS +/- 1.0MM UNLESS NOTED

2. DIMENSIONS SHOW ARE FOR ALL TOUCH TECHNOLGIES UNLESS NOTED

BRACKET FINISH X4 : SUS 304 NATURAL COLOR (FOR ET1939L)
BRACKET FINISH X4 : BLACK ELECTRODEPOSITION COATING(FOR ET1937L)

TITLE: ET1939L/ET1937L-XCWA-X

BEZEL WITH WIPER BLADE SEAL

DIMENSIONS ARE IN MILLIMETERS

e / 415 —

To 7 ® ° CH| I
lo | (i I 0| i

B 376 —

(ACTIVE AREAO)
o 301 ol
(ACTIVE AREAO)
343
308
CENTERING LIP
FO ()
® = ' 1K ' /ﬁy
° ° ° ° ! 1
SEE DETAIL A

(CENTERING LIP)

DETAIL A
(CENTERING LIP)
SCALE 2.000

50.0 FOR
-ACCUTOUCH
-INTELLITOUCH
-SURFACE CAPACITIVE

12VDC POWE

VG

SERIAL / USB TOUCH

REMOTE OSD

(REMOTE P/N E622897
ORDERED SEPERATLY)

hﬁoc@meoo h ee@eoe@o 000000

®

(O C N jl

L

(o] L

384
CENTERING LIP

SHEET 1

OF 8

MS500786

DATE: 06/01/13

REV:J




DIMENSIONS ARE IN MILLIMETERS

TITLE: ET1939L/ET1937L-XCWA-X

SECURE TOUCH OPTION (FOR ET1939L ONLY)

° L loJ U °

E:s\o_ooaoo o@oeoes cacacuaomca‘gIil

51.4

SHEET 2 OF 8

MS500786

DATE: 06/01/13

REV:J




TITLE: ET1939L/ET1937L-XCWA-X

IR OPTION (FOR ET1939L ONLY)

51.3

e I>
()

U ® U
¢ 00 @ [Flo=e omco () eoea @ ccoeecooco

MS500786

DIMENSIONS ARE IN MILLIMETERS SHEET 3 OF 8 DATE: 06/01/13

REV:J




TITLE: ET1939L/ET1937L-XCWA-X

APR OPTION

©

©

‘ﬁoo@omco o@oeoeslﬂ 60000®000

DIMENSIONS ARE IN MILLIMETERS

SHEET 4 OF 8

MS500786

DATE: 06/01/13

REV:J




TITLE: ET1939L/ET1937L-XCWA-X

LVDS OPTION (FOR ET1939L ONLY)

SEE USER GUIDE
FOR LVDS CONNECTION DETAILS

[Iﬁ'ooaoooo

Jo OOOO@?Q%

1 ° | n—

DIMENSIONS ARE IN MILLIMETERS

AL

SHEET 5 OF 8

MS500786

DATE: 06/01/13

REV:J




RECOMMENDED CUSTOMER

TITLE: ET1939L/ET1937L-XCWA-X

PANEL CUT-OUTsee noTE A)

- _ NOTE A
425.70 CUSTOMER PANEL MATERIAL:

1. WOOD: ¥ 4.5 HOLES THRU

. FOR M4 SCREWS W/NUTS,

\ | OR,NO THRU HOLES,SCREWS
R5.00 X4 FOR WOODY 4mm

2. SHEET METAL:CONCELED HEAD
THREADED STUDS M4 W/NUTS.

NOTE B
MONITOR INCLUDES 2 BRACKETS.
ADDITIONAL BRACKETS AVAILABLE,

309.00 +1.0/-0.0 P/N E147211

NOTE C

353.70 33.3mm=SECURE TOUCH
170.00 33.2mm=IR
30.2mm=APR

NOTE D

— 385.00 +1.0/-0.0 — 15.9mm=SECURE TOUCH
15.8mm=IR
| + + 12.5mm=APR

NOTE E

1.6mm=SECURE TOUCH
1. 7mm=IR
' 5.0mm=APR

REAR MOUNT WITH BRACKETS,
HORIZONTAL AND VERTICAL seenoteB)
— —~— 145

(SEE NOTE D) BRACKETS IN HORIZONTAL POSITIONS

MOUNTING BRACKET ADJUSTMENT RANGE

(SEE NOTE E)

364

\BRACKET IN

VERTICAL POSTIONS

- 436 -—

DIMENSIONS ARE IN MILLIMETERS

VESA MOUNT

—=— 100.00

———

M4 THREAD SIDE MOUNT,
MAX,SCREW DEPTH=7mm VE RTI CAL

1

®

——— 142.00

_—

SHEET 6 OF 8

142.00

—

( 100.4

(SEE NOTE C)
SIDE MOUNT,
HORIZONTAL
31.9
(SEE NOTE C)
ﬁﬂ'ccamocc @‘@eeoeo@o 00@@@00?51”
M (@) M ° ]l n | i

MS500786

DATE: 06/01/13

REV:J




BLACK ANODIZE FINSH

TITLE: ET1939L/ET1937L-XCWA-X

R9.30
/ x4 — - 4.50

FRONT MOUNT OPTION
P/N E163604

(ORDERED SEPERATLY,CUSTOMER ASSEMBLED)

Al

382

— 454

FRONT MOUNT BRACKETS(X4
(INCLUED WITH FRONT MOUNT ASSY)

5.0 NOTE: 1. IF CUSTOMER PANEL MATERIAL 1S WOOQD:

X8 ¢ 4.5mm HOLES THRU FOR M4 SCREWS, OR NO THRU

- 434 +1.0/-0.0 . HOLES,SCREWS FOR WOOI@ 4mm. 2.IF CUSTOMER
CUSTOMER PANEL CUT-OUT ) ) R15 MAX PANEL MATERIAL IS SHEET METAL: CONCEALED
AND MONITING HOLES X4 HEAD THREADED STUDS M4 WITH NUTS
I KN ° ° / /
&= - (O™ - 0) N
O (&
00000000 0C00000000Q00000
0\°333332 B mEswmwH  $39999333333°/%
000 oo®
000 000
00 o000
R 000 © 000
I o © @00 00 ® |l
(o_ 000 000 5
362 +1.0/-0.0 )
392.6 ° @o : o@
oce o efF
oo
150.00 - o 0o
404 voo g 00
000 ° ° ° o 29
000 © ©
! o 200 ° © © e oo
7 i / RHlooo ° —’ o \
O _Pyooo o o A
o l;J { I o
o ﬂ o
N . o] I=x H == o
! & L: N =
/ \ o o y,
——— 150.00 —= 476
— 464 .6 —

DIMENSIONS ARE IN MILLIMETERS

FRONT MOUNT ASSY

ET1939L MONITOR

CUSTOMER PANEL.:
FRONT MOUNT BRACKETS ACCOMMODATE
MAX,14mm MATERIAL THICKNESS

co0000000

®
©
©
©
©
o

MS500786

SHEET 7 OF 8 DATE: 06/01/13

REV:J




483

TITLE: ET1939L/ET1937L-XCWA-X

RACK MOUNT OPTION
P/N E579652

(ORDERED SEPERATLY,CUSTOMER ASSEMBLED)

BLACK ANODIZE FINSH \
| O
‘ O
146.00
266.00
' @)
! O

399.00

465.00

DIMENSIONS ARE IN MILLIMETERS

48~51.4

SHEET 8 OF 8

MS500786

DATE: 06/01/13

REV:J




	Sheet 1
	Views
	new_view_62
	right_108
	right_109
	bottom_110
	A


	Sheet 2
	Views
	new_view_105
	right_106
	bottom_107


	Sheet 3
	Views
	new_view_71
	right_112
	bottom_113


	Sheet 4
	Views
	new_view_74
	bottom_76
	right_114


	Sheet 5
	Views
	new_view_120
	right_121
	bottom_122


	Sheet 6
	Views
	new_view_26
	new_view_86
	right_87
	bottom_88
	new_view_90
	left_91


	Sheet 7
	Views
	new_view_38
	new_view_93
	new_view_94
	new_view_96
	new_view_102
	right_103


	Sheet 8
	Views
	new_view_123
	right_124
	bottom_125



